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qUnif 3A Day 9: Rate of Change Word Problems
. 'Focus Question: How do I find rate of change from a word problem?

A. As Y(t)fl answer each question below, make sure you indicate what rate you need. Then answer the
question.

1. Dasha and Lacey went shopping. Dasha bought 4 dresses and spent $25 dollars. Lacey bought 6

dresses and spent $38 dollars. Who found the better deals? Explain.
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2. M;atthew is charged $50 to rent a motorbike and an additional $0.15 per mile that he
motorbike. How is his total cost changing?
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3. JoAnn’s lunch account has $25 in it. Each day she has to pay $3 for lunch. How is her lunch balance

changing?
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Those three problems were pretty €asy b
require a little more thought. (Remember, that you can

very little work. The following problems
always turn problems into two points.) 7 - e
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4, Taylor atetoo much over the holidays and currently weighs 90 kg, She wenton a diet and 24 weeks

later weighsj%/lgg. How is Taylor’s weight changing? e ; S
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« Juan currently can bench 65 pounds. He is working on his strength and conditioning. After 5 wee,
he can bench 75 pounds. How is the weight he can bench changing?
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- Ascuba diver isﬂlit below the surface of the water 10 golnds into his dive. He

islggfcet below
the surface after @_ﬁg@nds? How is the scuba diver’s depth changing?
s
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- A taxi driver charges passengers that go 3 miles

$25. The next customers go 18 miles and get
charged $70. At what rate does the taxi driver ¢

harge customers?
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. George’s mom bought him a whole lot pencils to start the school year. A weeks of school,

George had 200 &ncils left. After 18 weeks of school, George was down to 137 pencils, At what
rate is George’s number of pencils ch g? jl
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